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1. The growth rate of Per Capita Income at current prices is higher than that of Per
Capita Income at constant prices, because the latter takes into account the rate of:

 growth of population
 increase in price level
 growth of money supply
 increase in the wage rate

2. Economic growth in country X will necessarily have to occur if –

 there is technical progress in the world economy
 there is population growth in X
 there is capital formation in X
 the volume of trade grows in the world economy

3. Which of the following is not a characteristic of the Indian Economy ?
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 Low productivity of labour
 Lower per capita income
 Low rate of capital formation
 Lack of Natural Resources

4. Which of the following is a Nodal Institution for implementation of Sustainable
Development Goals in India?

 Planning Commission
 Disinvestment Commission
 NITI Aayog
 Finance Commission

5. Which of the following Sustainable Development Goal (SDG) will target water
availability for all and its permanent management upto 2030 in India?

 SDG – 6
 SDG – 7
 SDG – 8
 SDG – 9
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